209n1

100

1/5000



T Al 3 R 2 S

BR) ¥ o & Al

KT koA
o zE ) s

8 KBEKES#R

AT T H

INE IR I =

it

=)
=7

| SO 2

i

As
g || 1at10

Elz

y

21000

RTEEETIERL=8. Om

FOMEHR BT

EE—

<
<
)

A
LA ]

P SERT =0T H

No. 13

No. 14

No. 15

No. 16}
16+14.5
No. 17,
17+10.0
18+3.3

(5 o' [ 24d &, ——— —— — — ————— ——— ————— - 4
_____ - - — o e i e e i e e e e e e o e - -
it Jefepepeppepals ) Sefelefulas Jujaiellaielal Sl M el el el Jufef— s
Bl
3 olls
| /4] PNE N = i of IR
Wy
v Ld
\4 -
- 119 & w ] &
: 1 ™ n I
Pl i
0.8 1
Ii No. 1
v 8 P W o |, i u
3 T3 3l —
I ii N = R
1
15 Iy 55 !

I %4 mERHKBRERGR IS
MBI ARNTFEFESTH-EAF1-2T BN
[T F |

R & 7 |mmss|
ETEA “f & A #©

k&N TH




5
5, m ™
HIE £
o | ¥ m
Bl =
% sl |m| —
| m _m i ﬁn
m .au | & H ~
x| E ) /
| =z Sk
K| & R
m | £ i
e =
* i
]
W ||y )
# |8 i
H i®|m|¥ 2
|
__ fir9 0 055 'L HEVO'9  fos's 16°9 000 009 000 02 0¢ 0N
“ 1185 0 Sov L ¥88°G fer's €879 000 08¢ 000 02 62 ‘ON
” 05 0 092 "L GTLS s 9L’9 000 098 000 02 82 °ON
“ 1850 SLEL l99S°S nees 59 000 ‘0¥S 000 02 L2 0N
N - o I 700 e oy &7
0L6°'9 000 0.6 9 L0V 'S HLOY G b R 169 000 025 0002 92 ON
_ Y\ N 8 10°L 000 ‘818 0007 [ 081452
W\\H_ //oNo%\ 00 0 020 'L wm “m 0L 000 71 000k [ 0vI+ST
€269 )[€C6 'S
/ N
fero €6 9 188°G H96c 089 000 008 000 02 520N
=3
3B
B
S|
0z 0 0189 7 oHies ffess 19°9 000 087 000 02 2N
. o |099°5 099 g ) ) . . .
60 0 18979 Kelz's feizs 99°¢ 09°9 000 097 000 02 €2 0N
Lo €959 f€0L's nwrg ) 000 0¥y 00091 20N
000 0+=K
e
g TR S = | [60°0 6L¥ 9 vI0'S fesy  ffeco 000427 [{000% i 0b+IC
= oo . . 5 B . . . § B
@u_n_m R N //91\\@8 0 1Ly 9 266 7 6y 179 000 "02¢ 000 02 120N
o000
S>>
000 0+=A Sm_m
Blc
si=
mnin
—|=d
{8l 0 2159 288V f18Y €879 000 007 000 02 02 ON
=S
&8
1e0 0 785 9 LY Hstv [+ 000 08¢ 00L '8 61 'ON
1% s
= i — PPN 598 MeLy nuy  fles femue puwed [
Mm 0299 )00 0 ! S[Ly (v 099 000 0L€ 006°€ [ 0°0l+8l
w N—""" } -
A4 00L 9 v69 v fliov  floro  ffootsee  {oogz f 3 SEN o
_7._ M B - L— 089 9 69V fe9w 89°9 00€ '€9€ 00¢ '€ £ €48l MWW\
™ = owom\oo.o 099 9 099 7 fi6s Y 99°9 000 09¢ 000 01 810N
o
4_@ /_ — 98 509 7
22 : . 509 7 N\|509 ¥ } ) . . .
’ _ 100 0+K 2\, 050 €279 Nss v Aliss v (|7 6LS 000°0S€ 11 000°01 ) 0°0L+LL
._.m = Y
gl _© \
MMM BN
TR =S Siss Eﬁm\B.o 0L6 'S [1€0S v f6vy 8y’s 000 0v€ 000 ¥ LL'ON
o —
H 680 0+=A = /_“ =wm 0 766°S 187 v 677 Sre 000 96 0009 0791491
2 )
© 700°0+K WMW 850 776 'S 6V v vy er'e 000 '0€€ 000 0L [] 0°01+91
“0v=h i
oo b
A
TR %_%Om 1189 0 070 "9 G6E Y f6e Y 68°C 000 02¢ 00011 910N
_.b WM 1 o/, 1£0°9
tero-=k if It @ M ¢
geL
950 0=k 250 796 'S GEE Y pocv Sre 000 '60 0006 0°6+S1
| £
T 000 0+=K \a . . . . . . ; .
e / | w00 TR S, f18e 0 65L°S H98z v fey 88°g 000 00¢ 000 21 S1°ON
1
T T 1 T T 1 ; T T 1 [ _ cEly B T2 || Fla (242 |80 B2 2 | oy |l = — .
| +&d || Uy | [~ =Tl = = { || = ire=)8 i 3
o s e EE7 i e bcid e e R s
= ° &
- [fe]
o
32




+T

A

m2

BEER

m2

[z& %%

m2

[ EL

m2

EELT

FRHE

#R

AEEEE

8 KB KB #R

BR EGAL)

#R O

DL=2. 00

T

A

m2

BRER

m2

EXS

m2

B

m2

EXLTT

FRAE

#R

AEEE

#EREAL)

B fm B E X

#R 0

DL=2. 00

T

1A

m2

BRER

m2

[z& %%

m2

B

m2

EELT

FRHE

BE

HEEEIE

BRE @ERRL)

Z 04

5=1:100

#R O

DL=2. 00

T

A

m2

BRIR

m2

EXS

m2

[ L

m2

EELT

FRAE

#R

AEEE

BR EGAL)

BEESNS,
£ B I OF
LRERRART i
TRBRET B

S4BTET5%. IXETCBR3
7RI 7 22 > (7 20FH)
£ HEERE (M-40)

EY 5y v —7 > (RC-40)

I L3

£ 7L (1% iE CBR20%ELE)

= 5cm
=15cm
=20cm
=60cm

-

g {3 i# 3005

#R O

DL=2. 00

A
By
17+10.0 REL m -
GH=5. 79 LEBRET |m -
FH=6. 231 TE%Q&I m —
THEE m - EERE +9. 28] +9.28'
+T +9.28] +9.28' ZBIWR [m [ 250 -
SREER $EHI m2 - - 18+10.0 (+9. 28) KEI(R) |m 3.10 -
m - B ER m2 1.4 - GH=6. 62 ERBET | m | 250 -
FH=6. 620
m - 237 S m2 - - ) 000 TREBET |n 2.50 -
m = BN EL m2 - - 5100 o REEIE m - -
m _ 4000,
EELT +9 28] +9.28' 3\ l——m’— [ HREER
i m| 07l 07 B oo [ Il | | [EEEREEDn =
1R m2 1.1 3.8 ‘ | - i1 I | SREER (81| m -
BE @A) n = ﬁ—ﬂj. Lio |~ ) | n -
EEEE | n B = | I AEEN (£ 95| n .
HE S A 1 A
NO. 17 ﬁEI m -
Bt EREET | n - DL=2.00
FH=5. 970 TREET | n —
TREE m - S
N +T £BIWR |m 2.48
SEE R 1EH m2 - £BI(K) |m]| 308
REER (G &) n - B m2 1.3 IP.1 tEmET [n| 248
EE R (£ B n - Bk n2 - des6.h TREET |0 | 24
SEERER R YD) n - B m2 - FH=6. 660 FEEE | -
EEER L) m - s
LT EEER
BRI m2 0.6 | EEER (G D) m -
#5 m2 0.8 | | REER (&) n -
ER @A) = — l : - EEER G YD) n -
HESE m - ‘ | . = :”:_| a EEER (£ 91)| m -
‘ /! Y
(o]
iEGE
16+16.0 =RET m - 18+6. 1A
“ans 45 EEBBET [m - DL=2. 00
FH=5. 932 TE%Q&I m —
w0 TREE m -
+T 018 e
EEER A m2 - ey £BI m -
IR (B &) m - B m2 - Fii=6. 660 FE®ET [n -
S 3 ANER (& &D)|n — T nZ . TREEL | n .
EREER G 91| m - m2 - RERIE m -
EEER )| m -
LT EEER
. TRl FRHE m2 - REER (G ED)n -
|4 185 m2 - EEER (B m -
HEEE m BB Y1) n -
B @A) m - EEER (£ 5D n -
#5 () m2 -
e
=RETL m -
16+10.0 LERET |m - DL=2. 00
Fiis. 944 TEBEL | n -
2 TREEE m -
3500
[KmER
bkmEy (5 sL)| n -
AR ()| m -
Lbﬁﬁ%ﬁé(ﬁ:ﬁi) m -
: bkt - I%% TEAHK RS ER SR TS

A
b
5
7

Ry YRR b
B2000 x H900

KANTHEFETE, AF1-2THA

HETER
R HEES 4
wF F A #

EREIEED

k&N TH




I FERIBER (Z01) I

2 AT E R

ROFEE (1) [SETH]

S=1:200

RIEE BIER L=8.0m

EIE RCR 7 AR L/A— FBL000 X H900 | EXE Rc#\‘v'Jxmwi‘-frB700xH7oo |
5@2000=10000 11161358 1766 562000=10000 4@2000=8000

e = 0 °
Y
A
| = & W,
U I N
FE R
&
dd [
c)l\-‘ """""""""""" .
2000
B | R fl @ =
960
130f, 700 , 130
I I
- ;I

1
N
=3
S
3

S=1:50

I %4 MEAHKBRERRRETE

EIER | #ARNHEFESTE - EaF1-2T BN

[ FRMIER (Z01)
R E BN ‘ﬁﬁ% 5
BREtFEAH wFH F

k&N TH

EEIE




i E A K B4 B fT & B I &
EES F R WO LB T e

)
o
F (™

5=1:25
72\

72\ r

0

ARICTEHE SEOTEM{SIEER T 10000
3300 . 5980

18+3.30
18+9.28
NO. 18+10.0
19+ 1A
'.U.
10,0 £

NO. 18

iy
. i (ﬂ |
" yo2nmn] 4700 x 700L8. B —

) i .
. w i I_ ERRSHERE N=14% .
A ¢ 800 H2500 r
[

RER (RR-E-15cm) R
L=2. 2m

6. 50 R32.
Z1E£ W300 L=2. Om }\17 \ =

N

INALE T (BEER$ERER)

W | $=1:25
(A-Alfm)

\ — ShEE S (R
\ B A14,1m2

40 ¢}

R=
A=14.1m2

FESET A4 1m
X i (3248~ E3-150)

A\

AERICTEE SE5TEER{TERET 10000
3300 5980 J20 0
3300 5980 00§1200, 300

‘-\ . . . .

.

| \ S dm (8 T
| \BHZEm

.

V10 N N_4m
A5/ L=£. Vil N= 1181

1U9)-17" 0y EEHE (300 x 300 x 400)

N

NoND

b, | —
N e )
) ICD

+61 1Bl @4
I |
. - | |
|
: = N‘\III 7
L e
'Y i ’

5 «

P
. |
| |
|

-
L

670

|
I~
(ee]
(e
d
I

\ 00 330
S| \poo 230

v+6. 660 v+6, 680 46. 620 +

‘ ARy R A= K
E==g=F T:ET i = \\\ //;L B700 X H700

v+4, 660 I e N Y A =+ =3= == S0 1 0 ( '
/NOLE T (BEERHERTER) 1350

av2y—k V=((0. 16+0. 2+0. 19+0. 23) /2 x 0. 15+ (0. 16+0. 2+0. 19+0. 23) /2 EE SR

I x4 MEAHKBRERS RIS

x0.99+(2.11+2.16) /2% 0.1)) x 0. 3=0. 20m3 i
SEEBR AN, EREMET5%. HEFCBR3 il o A=((0.16+0. 2+0. 19+0. 23) /2 x 0. 15+ (0. 16+0. 2+0. 19+0.23) /2 |== = T ER THE R

A8 #8183
x® B I OBEHETZRI(#i20FH) t= 5cm ® B I QBHEFZRI2A3D t= 3cm x 0 99+ (7 11+2 165 /7 x 0 n) X 2=1 3m? R & = E%%‘ 6
LRBET  EHENA (M-40) t=15cm LEBET  EHFENA M-40) t=17cm Ve WY D NE R & SV &= M. 27 = 1. wilis per— =0 & B H
TRERBET BE75 v v—37 > [R0-40) t=20cm TREBET BE75 v v—7 > [R0-40) t=20cm - ~/7 U — I‘ﬁlj?l, N:4?L = il

4:1-!1-

B B T L XWE (BECBROGEIE)  t=60cm B Bk T LIET (BECBRIGEIE)  t=60cn jd%] B[R W
gaT D13 t=0.5x4x0.995/1000=0. 002t ™

S L~ \| I I
- J 1 1
—

17+10.0
18+2. 45
18+3. 30
18+6 1A
18+6. 1B
18+8. 87
18+9. 28
18+10 0
18+11.30

NO 18
No 19

DL=0. 00

vV o ~ Vi VN e - 1IN




